8.8
5.5
67
72
HL1 H11 H25 2.9
L=690m
3 3 ( )
JR 6.0 12.0 m( )
3,100 (H42)
3,231 HL7
10/10
17 1
1 JR 20 3
350 =340
20 67% 72%
B/C=2.2

67




> 7

By ) :"*”E"‘“ N
i _" JR I"I
4
S /’/q\
! i
) i
[
§ k-‘ H11 H20
y v m— 01
J
\,_\ 1
s T
S
- \
! 12,000 A
2,500, _ 3,000 3,000 2,50 ;
0 0
D s T
H11 25 =8.8
8.8 690m 6.0(12)m
11 4,200
H11 20 5.9
67
10 12
H20
H21 25 2.9

25




H11

H12

H13

H14

H15

H16 | H17 | H18

H19

H20

H21 | H22

H23 | H24

H25

BP

. | |
B
> X X X
> X X X
> X X
X X
B C
B
C
( ) ( ) | ( ) )
487 0.7
45 ( )
3200 / 248 232 16 2.2
5| ( )
2,600 /
537




TMILZ 7

TN\ ) A B L=690m-W=6.0(12:gfm |

“)J. +’,?%: 3231 2734:a/ .; fiai”
% { \ YA :\. %m& 1l )/
k . .':".,‘-_‘-: e : ! =

A
" .

7 C-7, <&
f W a 7 M -
4 = &

)3 { i — sl o \ X

N =% ~
12,000 =

2,500 __3,000__3,000___2,50Q| . \/
\

%00 900

LT =5 I




L=690m W=6.0(12.0)m

L=350m

\\.\_Jih\

A




- %m%

L




.......
=

221 |/ km

100 /  km . \

5 9
3231 / Lol
H17 163
17 O
18 4
19 1
- BP K







